COST OF ATTENDANCE FOR FINANCIAL AID PROGRAMS

Automotive Service Technician 2022 - 2023

Overview of Program

Learn how to diagnose and treat Automatic Transmissions/Transaxle, Brakes, Engine Repairs, Manual Drive Train and Axles, Electrical/Electronic Systems, Heating and Air Conditioning, Engine Performance and Advanced Auto Engine Performance. A combination of classroom and hands-on training prepares you for the Automotive Service Excellence (ASE) testing certification and for employment in the repair field. Additional certifications available for additional cost.

Certification/Credentials

ASE

Graduation, Completion, and Placement Rates*

Based on the previous school year's data. N/A because there were no graduate completers in the 2021 year.

Graduation Rate	Total Completion Rate	Graduate Placement Rate	Industry Credential Passage Rate
N/A	N/A	N/A	N/A

^{*}The placement rate is based on those completers who are employed in a field related to their job training program. Actual number of students who are employed after graduation may be higher.

Cost of Attendance for Automotive Service Technician 2023-2024

- Program Length = 36 weeks
- Program Begin/End Date 09/11/2023 06/03/2024
- Program Clock Hours = 600 hours
- 1 Payment Period = 09/11/2023 01/24/2024

 2^{nd} Payment Period = 01/25/2024 - 06/03/2024

Cost for Dependent Student Living With Parent

Expenses	Months in Academic Year	Monthly Allowance	Total
Tuition			\$6,625.00
Books/Supplies			\$215.00
Personal Expenses	9	348.00	\$3,132.00
Living Expenses	9	568.00	\$5,112.00
Transportation *			\$1,886.00
Loan Fees**			\$38.00
Total			\$17,008.00

Cost for Dependent Student Living On Own

Expenses	Months in Academic Year	Monthly Allowance	Total
Tuition			\$6,625.00
Books/Supplies			\$215.00
Personal Expenses	9	348.00	\$3,132.00
Living Expenses	9	1,116.00	\$10,044.00
Transportation *			\$1,886.00
Loan Fees**			\$38.00
Total			\$21,940.00

Cost for Independent Student

Expenses	Months in Academic Year	Monthly Allowance	Total
Tuition			\$6,625.00
Books/Supplies			\$215.00
Personal Expenses	9	348.00	\$3,132.00
Living Expenses	9	1,116.00	\$10,044.00
Transportation *			\$1,886.00
Loan Fees**			\$70.00
Total			\$21,972.00

Cost for Independent Student with Dependents

Expenses	Months in Academic Year	Monthly Allowance	Total
Tuition			\$6,625.00
Books/Supplies			\$215.00
Personal Expenses	9	348.00	\$3,132.00
Living Expenses	9	1,116.00	\$10,044.00
Dependent Care	9	725.00	\$6,525.00
Transportation *			\$1,886.00
Loan Fees**			\$70.00
Total			\$28,497.00

^{*}Transportation is determined by taking the average distance student's travel to attend Lorain County JVS Adult Career Center by how many trips a week times the number of weeks. Thus 8 trips per week X 36 weeks X 10 miles X 0.655 government mileage rate = \$1,886.00.

^{**}Loan Fees – Based on 1.057 origination fee and if both a subsidized and unsubsidized loan are utilized.

Cosmetology 2023 - 2025

Overview of Program

The Cosmetology program is designed to prepare students in the art and science of hair, skin, nails and management of a salon. The Cosmetology program prepares students for licensure as a Cosmetologist through the Ohio State Board of Cosmetology upon successful completion of the state boards. Cosmetologists are trained in the skills of haircutting, styling, and use of cosmetology tools, coloring, waxing, manicuring, pedicures, nail enhancements and make-up applications.

Certification/Credentials

Ohio State Board of Cosmetology License

Graduation, Completion, and Placement Rates*

Based on the previous school year's data. We only had two students complete in the year 2021.

Graduation Rate	Total Completion Rate	Graduate Placement Rate	Industry Credential Passage Rate
40%	40%	50%	100%

^{*}The placement rate is based on those completers who are employed in a field related to their job training program. Actual number of students who are employed after graduation may be higher.

Cost of Attendance for Cosmetology

➤ Program Length = 75 weeks

(1 year 45 weeks/900 clock hours)

Program Clock Hours = 1,500 hours

(2 year 30 weeks/600 clock hours)

- > Program Length = 45 weeks Program Begin/End Date = September 11, 2023 September 17, 2024
- ➤ 1 Payment Period = 1 to 450 hours

2nd Payment Period = 451 to 900 hours

Cost for Dependent Student Living With Parent (First Year)

Expenses	Months in Academic Year	Monthly Allowance	Total
Tuition			\$9,752.00
Books			\$285.00
Personal Expenses	12	348.00	\$4,176.00
Living Expenses	12	568.00	\$6,816.00
Transportation *			\$1,769.00
Loan Fees			\$58.00
Total			\$22,856.00

Cost for Dependent Student Living On Own (First Year)

Expenses	Months in Academic Year	Monthly Allowance	Total
Tuition			\$9,752.00
Books			\$285.00
Personal Expenses	12	348.00	\$4,176.00
Living Expenses	12	1,116.00	\$13,392.00
Transportation *			\$1,769.00
Loan Fees			\$58.00
Total			\$29,432.00

Cost for Independent Student (First Year)

Expenses	Months in Academic Year	Monthly Allowance	Total
Tuition			\$9,752.00

Books			\$285.00
Personal Expenses	12	348.00	\$4,176.00
Living Expenses	12	1,116.00	\$13,392.00
Transportation *			\$1,769.00
Loan Fees			\$100.00
Total			\$29,474.00

Cost for Independent Student With Dependents (First Year)

Expenses	Months in Academic Year	Monthly Allowance	Total
Tuition			\$9,752.00
Books			\$285.00
Personal Expenses	12	348.00	\$4,176.00
Living Expenses	12	1,116.00	\$13,392.00
Dependent Care	12	725.00	\$8,700.00
Transportation *			\$1,769.00
Loan Fees			\$100.00
Total			\$38,174.00

^{*}Transportation is determined by taking the average distance student's travel to attend Lorain County JVS Adult Career Center by how many trips a week times the number of weeks. Thus 6 trips per week X 45 weeks X 10 miles X 0.655 government mileage rate = \$1,769.00.

➤ Program Length = 30 weeks

Program Begin/End Date = September 17, 2023 – May 20, 2025

> 1 Payment Period = 1 to 300 hours

2nd Payment Period = 301 to 600 hours

Cost for Dependent Student Living With Parent (Second Year)

Expenses	Months in Academic Year	Monthly Allowance	Total
Tuition			\$5,998.00
State Kit			\$50.00
Personal Expenses	9	348.00	\$3,132.00
Living Expenses	9	568.00	\$5,112.00
Transportation *			\$1,769.00
Loan Fees			\$38.00
Total			\$16,099.00

Cost for Dependent Student Living On Own (Second Year)

Expenses	Months in Academic Year	Monthly Allowance	Total
Tuition			\$5,998.00
Books			\$50.00
Personal Expenses	9	348.00	\$3,132.00
Living Expenses	9	1,116.00	\$10,044.00
Transportation *			\$1,769.00
Loan Fees			\$38.00
Total			\$21,031.00

^{**}Loan Fees – Based on 1.057 origination fee and if both a subsidized and unsubsidized loan are utilized.

Cost for Independent Student (Second Year)

Expenses	Months in Academic Year	Monthly Allowance	Total
Tuition			\$5,998.00
Books			\$50.00
Personal Expenses	9	348.00	\$3,132.00
Living Expenses	9	1,116.00	\$10,044.00
Transportation *			\$1,769.00
Loan Fees			\$70.00
Total			\$21,063.00

Cost for Independent Student With Dependents (Second Year)

Expenses	Months in Academic Year	Monthly Allowance	Total
Tuition			\$5,998.00
Books			\$50.00
Personal Expenses	9	348.00	\$3,132.00
Living Expenses	9	1,116.00	\$10,044.00
Dependent Care	9	725.00	\$6,525.00
Transportation *			\$1,769.00
Loan Fees			\$70.00
Total			\$27,588.00

^{*}Transportation is determined by taking the average distance student's travel to attend Lorain County JVS Adult Career Center by how many trips a week times the number of weeks. Thus 6 trips per week X 30 weeks X 10 miles X 0.655 government mileage rate = \$1,179.00.

Program meets licensure requirements in the following States: Ohio.

SOC code: (http://www.bls.gov/soc/) 39-5012

Occupational Profile (https://www.onetonline.org/link/summary/39-5012.00)

For more information about graduation rates, loan repayment rates, and post-enrollment earnings about this information and other postsecondary institutions please click here: https://collegescorecard.ed.gov/

^{**}Loan Fees – Based on 1.057 origination fee and if both a subsidized and unsubsidized loan are utilized.

Esthetician 2022 - 2023

Overview of Program

The Esthetician Program trains students in the performance of skin analysis and facial treatments, body care and make-up. The program prepares the students for career choices in the Cosmetology field of Esthetics in Salons, Spas, Skin Care Clinics and Medical offices performing skin care services. Our students are prepared to sit for the Ohio State Board of Cosmetology Esthetics Exam in Practical services as well as the written exam. Upon passage the students receive a license to practice Esthetics in the State of Ohio, making them employability in this in-demand hospitality field.

Certification/Credentials

COS State Board

Graduation, Completion, and Placement Rates*

Based on the previous school year's data

Graduation Rate	Total Completion Rate	Graduate Placement Rate	Industry Credential Passage Rate
93%	93%	92%	100%

^{*} Based on the previous school year's data. The placement rate is based on those completers who are employed in a field related to their job training program. Actual number of students who are employed after graduation may be higher.

Cost of Attendance for Esthetician 2023 - 2024

- Program Info = 30 weeks/600 hours
- Program Begin/End Date 09/25/2023 06/17/2024
- ightharpoonup 1 Payment Period = 09/25/2023 02/01/2024
- 2^{nd} Payment Period = 02/02/2024 06/17/2024

Cost for Dependent Student Living With Parent

Expenses	Months in Academic Year	Monthly Allowance	Total
Tuition			\$7,050.00
Books			\$360.00
Other Costs For Program			\$95.00 *Estimated
Personal Expenses	9	348.00	\$3,132.00
Living Expenses	9	568.00	\$5,112.00
Transportation *			\$1,179.00
Loan Fees**			\$38.00
Total			\$16,966.00

Cost for Dependent Student Living On Own

Expenses	Months in Academic Year	Monthly Allowance	Total
Tuition			\$7,050.00
Books			\$360.00
Other Costs For Program			\$95.00 *Estimated
Personal Expenses	9	348.00	\$3,132.00
Living Expenses	9	1,116.00	\$10,044.00
Transportation *			\$1,179.00
Loan Fees**			\$38.00
Total			\$21,898.00

Cost for Independent Student

Expenses	Months in Academic Year	Monthly Allowance	Total
Tuition			\$7,050.00
Books			\$360.00
Other Costs For Program			\$95.00 *Estimated
Personal Expenses	9	348.00	\$3,132.00
Living Expenses	9	1,116.00	\$10,044.00
Transportation *			\$1,179.00
Loan Fees**			\$70.00
Total			\$21,930.00

Cost for Independent Student With Dependents

Expenses	Months in Academic Year	Monthly Allowance	Total
Tuition			\$7,050.00
Books			\$360.00
Other Costs For Program			\$95.00 *Estimated
Personal Expenses	9	348.00	\$3,132.00
Living Expenses	9	1,116.00	\$10,044.00
Dependent Care	9	725.00	\$6,525.00
Transportation *			\$1,179.00
Loan Fees**			\$70.00
Total			\$28,455.00

^{*}Transportation is determined by taking the average distance student's travel to attend Lorain County JVS Adult Career Center by how many trips a week times the number of weeks. Thus 6 trips per week X 30 weeks X 10 miles X 0.655 government mileage rate = \$1,179.00.

Program meets licensure requirements in the following States: Ohio. SOC code: (http://www.bls.gov/soc/) 39-5094

Occupational Profile (https://www.onetonline.org/link/summary/39-5094.00)

For more information about graduation rates, loan repayment rates, and post-enrollment earnings about this information and other postsecondary institutions please click here: https://collegescorecard.ed.gov/

^{**}Loan Fees – Based on 1.057 origination fee and if both a subsidized and unsubsidized loan are utilized.

Precision Machine Technology 2023 - 2024

Overview of Program

This program starts you toward a rewarding career in metalworking with the employer-preferred National Institute for Metalworking Skills (NIMS) certifications. Credentials in Safety, Quality & Measurement, Manufacturing Processes & Production, and Maintenance Awareness will be earned through the CPT (Certified Production Technician) training. Our course provides hands-on experience with lathes, milling, blueprint reading, shop math, CNC, CNC programming, tooling, machine set-up, measuring, safety, metallurgy and more. Students will be prepared to work with precision equipment and machinery as well as read precision measuring instruments and blueprints.

Certification/Credentials

Credentials earned by the students in the PMT Program are certifications through NIMS (National Institute for Metalworking Skills.) Additionally, all students in the PMT program have the opportunity to earn the OSHA 10-hour safety certifications.

Graduation, Completion, and Placement Rates*

Based on the previous school year's data. N/A because there were no graduate completers in the 2021 year.

Graduation Rate	Total Completion Rate	Graduate Placement Rate	Industry Credential Passage Rate
N/A	N/A	N/A	N/A

^{*} Based on the previous school year's data. The placement rate is based on those completers who are employed in a field related to their job training program. Actual number of students who are employed after graduation may be higher.

Cost of Attendance for Precision Machine Technology 2022 - 2023

- Program Info = 36 weeks/600 hours
- Program Begin/End Date 09/18/2023 06/11/2024
- ightharpoonup 1 Payment Period = 09/18/2022 01/31/2024 2nd Payment Period = 02/01/2024 06/11/2024

Cost for Dependent Student Living With Parent

Expenses	Months in Academic Year	Monthly Allowance	Total
Tuition			\$9,000.00
Books			\$55.00
Personal Expenses	9	348.00	\$3,132.00
Living Expenses	9	568.00	\$5,112.00
Transportation *			\$1,886.00
Loan Fees **			\$38.00
Total			\$19,223.00

Cost for Dependent Student Living On Own

Expenses	Months in Academic Year	Monthly Allowance	Total
Tuition			\$9,000.00
Books			\$55.00
Personal Expenses	9	348.00	\$3,132.00
Living Expenses	9	1,116.00	\$10,044.00
Transportation *			\$1,886.00
Loan Fees **			\$38.00
Total			\$24,155.00

Cost for Independent Student

Expenses	Months in Academic Year	Monthly Allowance	Total
Tuition			\$9,000.00
Books			\$55.00
Personal Expenses	9	348.00	\$3,132.00
Living Expenses	9	1,116.00	\$10,044.00
Transportation *			\$1,886.00
Loan Fees **			\$70.00
Total			\$24,187.00

Cost for Independent Student with Dependents

Expenses	Months in Academic Year	Monthly Allowance	Total
Tuition			\$9,000.00
Books			\$55.00
Personal Expenses	9	348.00	\$3,132.00
Living Expenses	9	1,116.00	\$10,044.00
Dependent Care	9	725.00	\$6,525.00
Transportation *			\$1,886.00
Loan Fees **			\$70.00
Total			\$30,712.00

^{*}Transportation is determined by taking the average distance student's travel to attend Lorain County JVS Adult Career Center by how many trips a week times the number of weeks. Thus 8 trips per week X 36 weeks X 10 miles X 0.585 government mileage rate = \$1,684.80.

Program meets licensure requirements in the following States: Ohio. SOC code: (http://www.bls.gov/soc/) 51-4041

Occupational Profile (https://www.onetonline.org/link/summary/51-4041.00). CIP code: 48.0501 For more information about graduation rates, loan repayment rates, and post-enrollment earnings about this information and other postsecondary institutions please click here: https://collegescorecard.ed.gov/